1/(tgdx+tg2x) - 1/(ctgdx + ctg2x) = tg3x

1/(sin5x/cosdx+sin2x/cos2x) - 1/(cosdx/sin5x + cos2x/sin2x) = sin3x/cos3Xx

1/([sindx*cos2x+sin2x*cosox]/cosdx*cos2x) - 1/([cos5x*sin2x + cos2x*sin5x]/sin2x*sindx) =

=sin3x/cos3Xx

COSOX*Cc0os2x/[sindx*cos2x+sin2x*cosdX] - sin2x*sindx/[cos5Xx™siN2X + cos2X*sindX] =

=sin3x/cos3x

COSOX™cos2x/sin(5x+2x) - sin2x*sin5x/sin(5x+2x) = sin3x/cos3x

[COSSX™C0os2X - sin2x*sindx]/sin(5x+2x) = sin3
COS(5x+2x)/sin(5x+2x) = sin3x/cos3x
cos7x/sin7x = sin3x/cos3x

cos/x/sin7x - sin3x/cos3x=0

[COoS/x*cos3X - sin3x*sin7x]/cos3x*sin7x=0
[COS/X*cos3X - sin3x*sin7x]/cos3x*sin7x=0

COS3X

[CcOS7X*c0os3X - sin3x*sin7x]=0
coS7Xx*cos3X - sin3x*sin7x=0
cos(7x+3x)=0

cos10x=0

10x=P/2+Pn

x=P/20+Pn/10

OtBeT P/20+PNn/10, roe n
uenoe un n!=7+5t, roe t
Npoun3BOJiIbHOE uenoe

P/20+Pn/10!=P/4+Pk/2|*(20/P)
1+2n1=5+10k

-41=10k-2n

-21=5Kk-n

kO=1 n0=7

-21=5k0-n0

-21=5(k0 + a*t)-(n0 + b*t)=

=5k0 + 5a*t-n0 - b*t=5k0 - n0 + 5a*t - b*t
a=1 b=5

k=k0 + 1*t = 1+t
n=n0 + 5t=7+5t

cos2x!=0
x!=P/4+Pk/2
cos3x!=0
x!=P/6+Pk/3
cos5Hx1=0
x!=P/10+Pk/5

sin/x!=0
x1=Pk/7

P/20+Pn/10!=P/6+Pk/3
1/20+n/10!=[1+2K]/6
1/20+n/10!=[1+2k]/6|*60
3+6n!=10[1+2K]
3+6n!=10+20k
20k-6n!=-7 pew HeT
P/20+Pn/10!=P/10+Pk/5
1+2n!=2+4k

2n-4k!=1 pew HeT

P/20+Pn/10!=Pk/7
/+14n1=20k
/1=20k-14n pew HeT




